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(hwquwn npwdltipny)

= |al 4 AnLgbnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwikap

.;:-:;, 2 3| E cﬂ_ pintobinwhl swiuutinh inbwnbuwghnwywh ==z Jwpswyw pniet | $nlnwihb pniot

el =2 nwuwywpgiwb hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
LLNUUGBLL SUUBN 124,917,826.1 123,770,151.1 18,083,846.8
2100{01|/0 | O oun<ULNEN ALNE3RBH LULNU3LL 12,013,721.3 11,202,544.1 811,177.2
ounusnt@3NFLLEN

wyn pynLd’

2110|101 | 1 | 0 |OpbGunpp L gnpdwnhp dwpdhGabp, 11,131,490.8 10,974,261.1 157,229.7
wbwnwhwl Yuewdwpnid, phGwbuwlwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111(01| 1 | 1 |OptOunhp L gnpéwnhn dwpdhOGtp, wsnwywl 11,117,490.8 10,960,261.1 157,229.7
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 11,079,394.0 10,922,164.3 157,229.7
- U2uwwinnnGbnh w2fuwwnwywndbp L 4111 8,100,096.5 8,100,096.5 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 457,881.0 457,881.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 275,367.3 275,367.3 -
- UndntGwy SwrwynipintbbEn 4213 22,338.3 22,338.3 -
- Ywuwh SwrwjnipnLtGbn 4214 365,711.6 365,711.6 -
- Uywhnjwgnwywb dwfuubin 4215 15,008.0 15,008.0 -
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 60,720.0 60,720.0 -
- Lbpphb gnpéninnLdGbp 4221 1,100.0 1,100.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwjuutin 4222 59,000.0 59,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 14,020.0 14,020.0 -
- {wiwywngswihb dwrewjnipynLblbn 4232 82,376.0 82,376.0 -
- Uluwwnwywqih dwubwghunwywb qupgugiwl 4233 26,000.0 26,000.0 -
SwrwjnLpnLbbEn
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- SbnGYwuinywywh swrewjnipyntGbbn 4234 25,630.0 25,630.0 -
- Ywrwywnswywb swewjnipntbbbn 4235 60,000.0 60,000.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 62,413.5 62,413.5 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 59,413.8 59,413.8 -
- Uwulwghunwywb swrwjnipjntbbbn 4241 15,045.1 15,045.1 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 279,579.0 279,579.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 69,071.6 69,071.6 -
- Spwluwnpuwihb Gnipkn 4264 243,544.0 243,544.0 -
- Ushgwnuwihb L hwbpwhG ubbnh OjneeEn 4267 33,281.6 33,281.6 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 15,979.7 15,979.7 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 297,043.8 297,043.8 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4638 42,600.0 42,600.0 -
hwiwjopwht wrluinpwiht YuwqdwytpwneentGbsph
- W Gwwunbbp pinuobihg 4729 58,500.0 58,500.0 -
- Mwpunwnhp y&wnobn 4823 20,209.5 20,209.5 -
- Uj) Swiuubn 4861 160,234.0 160,234.0 -
- Jwpswywb uwppwynpniibbn 5122 133,289.7 - 133,289.7
- Wy dbpbawobn L uwppwynpniibtbp 5129 940.0 - 940.0
- Ng Gynipwywl hhoOGwywb shonglbp 5132 23,000.0 - 23,000.0
2. Ywpswluwl opylyuinGlph uenignid L 38,096.8 38,096.8 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 38,096.8 38,096.8 -
wwhwwntd

2113|01| 1 | 3 |Upuwphl hwpwpGnpnigntbGep 14,000.0 14,000.0 -
wyn pynLd’
1. GpLwl punuwphl dhowqquihl Juwplwih, 14,000.0 14,000.0 -
20Gnphbyni dweuwynipintGGGph nhdwg yswnpdwl
dwifuubin
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 14,000.0 14,000.0 -

2130|101 | 3 | 0 | Lanhwhnip pGnyph SwrwynipniGGEn 33,983.0 33,983.0 -
nphg’

213101 3 | 1 |Ufuwunwlwqdh /Yunnpbph/ gény pnhwbnip pGnyeh 33,983.0 33,983.0 -

SwrwjnLpnLbbEn

wyn pynLd’

20




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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1. Pwnwpwghwlwl Gugnipjwl wlwnbph 33,983.0 33,983.0 -
qpuilguwl Gwpuyni pjwl gnpdnt Ghniprul
Yuwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 29,238.3 29,238.3 -
hwyblwygwnlbp
- EGGpgbuinhy swrwynipnLbGbp 4212 3,205.3 3,205.3 -
- UndntGwy SwrwynipntbbBn 4213 100.0 100.0 -
- Ywuwh SwrwjnipnLtGbn 4214 500.0 500.0 -
- Qpwubtwyuwhb Gniebp LW hwgniuwn 4261 650.0 650.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 150.0 150.0 -
- Mwpunwnhp y&wnobn 4823 25.0 25.0 -
- Uj) dwfuutn 4861 114.4 114.4 -

2150|101 | 5 | 0 |LanhwlGnip pGnuyph hwapuyhl 663,947.5 10,000.0 653,947.5
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |COnhwbntp panyph hwapwihb Swewinipintbbtnh 663,947.5 10,000.0 653,947.5
qony hGuinwgnuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 413,947.5 10,000.0 403,947.5
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 10,000.0 10,000.0 -
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 403,947.5 - 403,947.5
2. Gpluwil punuiph qpfuwydnp hunwluwqdh 250,000.0 - 250,000.0
hnwlwlwgdwl Yapniénipinil
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 250,000.0 - 250,000.0

2160|01| 6 | O | LanhwhGnip pGnuyph hwapuyhl 184,300.0 184,300.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|01| 6 | 1 |COnhwbntp paniyph hwbpwiht SwrwnipintbOGn (w) 184,300.0 184,300.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdGbp, hwygunhdnidlbp, nunwpwGh 158,200.0 158,200.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhiowiywdo YAwnpnidabp
- Mwpunwnhp y&wnobn 4823 158,200.0 158,200.0 -
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2. Qnuyph GLundwdp hpwyniGplEph 26,100.0 26,100.0 -
qpuiguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Uwubwghunwywb swrwjnipjntbbbn 4241 8,000.0 8,000.0 -
- Mwpunwnhp y&wnobn 4823 18,100.0 18,100.0 -

22001020 | 0 nuUCSMULNHB3NFL 70,610.0 30,310.0 40,300.0
wyn pynLd’

2220|022 | 2 | 0 | Pwnuwpwghwwl wwywnwwlnipinta 50,400.0 10,100.0 40,300.0
nphg’

222102 | 2 | 1 |Pwnwpwghwywb wwunwwbntentb 50,400.0 10,100.0 40,300.0
wyn pynLd’
1. Puwnwpwghwlwl wuwpwnwwanpjwala 50,400.0 10,100.0 40,300.0
wowlgnipint G
- SbnGYwuinywywh SwewjnipyntGbbn 4234 2,600.0 2,600.0 -
- UbpGOwObph L uwppwynpnidbbph pbpwghy 4252 6,000.0 6,000.0 -
Gnpngntd b wwhwwOnid
- <wwnnty Gwwuinwywihb wyp pneptn 4269 1,500.0 1,500.0 -
- Jwpswywb uwppwynpniibbn 5122 7,096.0 - 7,096.0
- Wy dbpbawobn L uwppwynpniibtbp 5129 33,204.0 - 33,204.0

225002 | 5 | O | Nwpwnwwbnipyni b (wy nuubphl swwainlwbnn) 20,210.0 20,210.0 -
nphg’

2251102 | 5 | 1 |Mwunwwbnipintb (w)p nwubphb swwwnywhnn) 20,210.0 20,210.0 -
wyn pynLd’
1. 2hGwwwpunbbiph hwyJwedwl, gnpuwlynsh, 12,350.0 12,350.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpwdwOa wowlgnipim
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 1,500.0 1,500.0 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 10,850.0 10,850.0 -
2. Uypawnpwlpuyhl wipfuwinwlpuyhl 7,860.0 7,860.0 -
Swipuyni gyl hppwiluiGuigni J
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 7,860.0 7,860.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2400|040 | O SLSGEUULUL <UrurtMPN@3NFLLEN 30,480,352.2 23,629,204.8 6,851,147.4
wyn pynLd’

2410|104 | 1 | O |LanhwGnip pGnyph wnlunbuwlwa, 30,000.0 30,000.0 -

wrbinpuyhl b wpfuwnnwGph gény
hwpwptpnipnGGGn

nphg’
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241104 | 1 | 1 |COnhwOntp pbnyph tnbwnbuwywb L welinpwih 30,000.0 30,000.0 -
hwpwptpnenLGbbn
wyn pynLd’
1. hpwdwfuwfuin ppphly webnph Yawnp yud 15,000.0 15,000.0 -
wpwluwnpunuyhl dhongn hunnily tnwpwédp
wnbnuithnfudwl b wwhwwidwl dwewnipintl
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 15,000.0 15,000.0 -
2. hlplwluwd wnbnwnpywd weluph, 15,000.0 15,000.0 -
SwepuynipyntG0Gph dunnigdwl opiiyunlGbnh
wwywdnbwnwddwl, wnbnwhnfudwl b
wwhuwwGdwl dwrwynipintGaGGn
- CanhwOntp pGnyph w)p SwrwjnLpnLtGOEn 4239 15,000.0 15,000.0 -

2420|04 | 2 | 0 | YmupwnGunbunipyni b, whnweuyhla 64,400.0 - 64,400.0
wnbwnbunipinil, d4Gnpunipinl L
npunpnnipinLG
nphg’

2424|104 | 2 | 4 |NengnLd 64,400.0 - 64,400.0
wyn pynLd’
1. Nenquwl gulgh Yuenignid L 64,400.0 - 64,400.0
YGpwlnpngniJ
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 64,400.0 - 64,400.0

2430|104 | 3 | 0 | Ywnrbihp L Fapgtunpyw 1,773,110.3 75,332.4 1,697,777.9
nphg’

2435|04 | 3 | 5 |EGYunpwtGbpghw 1,773,110.3 75,332.4 1,697,777.9
wyn pynLd’
1. Gdpnwwluwb Gepnpnidughl pwlGlyh 838,724.3 75,3324 763,391.9
wowlgni pjuid) wlwGwgagynn «Gplwl,
taGpquiwipnm Gwybunnpiuly dpughp
- Upuinwphb ywnybph gény itnnynuwdwnbbn 4422 75,3324 75,3324 -
- GLlpbnh L 2hOneyntG0Bnph Yuwwhunwy yepwbnpngnid 5113 763,391.9 - 763,391.9
2. Uplbywlb GYpnwuyh tabpquifuGuynnnipjuwl 534,386.0 - 534,386.0
L plwwywhwwlGwlwl gnpéplybpni ppulb
bnlnh wowlgnipywdp hpwlywlwgynn
«GpLwlh FaGpquwpnynt Gwybunnpiuwly
ppwduwpGnphuyhl 6pwghp
- GLlpbph L 2hOneyntGbBnph Yuwwhuwy yepwbnpngnid 5113 534,386.0 - 534,386.0
3. «GpLwih tabpquiwpnni GuwybGunni pjuwly 400,000.0 - 400,000.0
dnwaqnh hwdwppbwbuwynpmd
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 400,000.0 - 400,000.0

2450|104 | 5 | 0 | Spwhuwnpwn 33,241,032.3 21,633,056.2 11,607,976.1
nphg’
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2451 | 04 1 | Awlwwwnhwih0 tnpwbuwnnpun 22,682,131.4 12,133,335.3 10,548,796.1
wyn pynLd’
1. Uupuwyin-pbunnlyw swdlyh Ybpwlnpngnid L 3,652,464.5 2,632,464.5 1,020,000.0
wwhuwwbnig
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,632,464.5 2,632,464.5 -
wwhwwntd
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 1,020,000.0 - 1,020,000.0
2. Uuhwlwlb qupquigdwl pwlyh 3,091,415.1 3,091,415.1 -
wowlgni prudp hpwiluGuigynn pwinwpuyhl
qunquigdwl GEpnpnidughlG
Spwaghp(wunydhpwldwé hwgnpnipini GGEn)
- W Swfuubin 4861 3,091,415.1 3,091,415.1 -
3. Gqnwpwnbinh YGpwanpngnid 176,500.0 176,500.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 176,500.0 176,500.0 -
wwhwwntd
4. <Ghwwunbph JGpwGnpngnid 188,839.3 68,439.3 120,400.0
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 68,439.3 68,439.3 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 17,000.0 - 17,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 103,400.0 - 103,400.0
5. <GwnhninlG wlgndGlph Yuwemgnid L 79,000.0 - 79,000.0
YGpwlnpngniJ
- GLlpbnh L 2hOneyntGObnph Yuwwhunwy yepwbnpngnid 5113 79,000.0 - 79,000.0
6. Ywidnouyhl Ywrnm gywéplbph 390,000.0 90,000.0 300,000.0
Yepwlhwigan b wwhwwlmd
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 300,000.0 - 300,000.0
7. <pwqnuwb Ypnah L Gplwljwt (Ah 2,100.0 2,100.0 -
puwnbywpaqnid
- UndntGwy SwrwynLpntbbEn 4213 2,100.0 2,100.0 -
8. Uuwypninplbiph L thnnnglbph 947,319.1 193,034.0 754,285.1
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 193,034.0 193,034.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 392,113.3 - 392,113.3
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 362,171.8 - 362,171.8
9. ®nnnglbbiph wwhwwinid by ;whwgnpénid 1,218.3 1,218.3 -
- EGGpgbuinhy swrwynipnLGGep 4212 868.3 868.3 -
- Ywuwh SwrwjnipnLtGbn 4214 350.0 350.0 -
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10. UdwnnbyuywGunnbtnh yuquiwlbpnwdwl 428,034.0 428,034.0 -
Swpuyntpnt o
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 68,034.0 68,034.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
- Uj) Swiuubn 4861 360,000.0 360,000.0 -
11. BapwhwppwlbGbph Yuenignid 121,000.0 1,000.0 120,000.0
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 1,000.0 1,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 120,000.0 - 120,000.0
12. Uuhwlwl quipquigdwl pwllyh 1,171,420.4 1,171,420.4 -
wowljgni prudp hpwilquiGuigynn punuwpuyhl
quinquigdwl Gepnpnduyhb épwgph
hwdwywpqm d L juewywpnid
(wuwwnyd hpuwiydwé (hugnpnipini GGbn)
- Wy 6wluutn 4861 1,171,420.4 1,171,420.4 -
13. ®nnnglbiph, hpwwwpwlbbph L uyghblph 593,291.0 85,300.0 507,991.0
Yuhwynpnig
- EGGpgbuinhy swrwynipnLGGen 4212 22,300.0 22,300.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 63,000.0 63,000.0 -
wwhwwntd
- Wy dbpbawobn L uwppwynpniibtbp 5129 507,991.0 - 507,991.0
14. Awlwuwwphuyhl Gpplbyni piwl 765,928.6 765,928.6 -
widwnwbqnipiul wwywhnynid b
Swlwwywnphunpwluwnpuughl
wuwwnwhwplbph yuwlfuwnpgbnid
(wuwwnyd hpuwiydwé (hugnpnipini GGbn)
- EGGpgbuinhy swrwynipnLGGep 4212 48,000.0 48,000.0 -
- Wy 6wluutn 4861 717,928.6 717,928.6 -
15. Nawnwywl Grwlwlynipjwl 2,667,382.0 2,667,382.0 -
wywnnswlwwwphGbph
hhoGwlnpngm d(wwwnd hpwlyduwd
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 2,667,382.0 2,667,382.0 -
16. Spwluwnpunuyhl opllyunGlph 769,099.1 769,099.1 -
hhoGwinpngn U (wuiindhpuilyduwid
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 759,099.1 759,099.1 -
17. Spwluwnpunuwghl hwdwlwpgh 7,647,120.0 - 7,647,120.0
wpnhwluwlwgntJ
- Spwluwnpuwihb uwppwynnpniibbn 5121 7,647,120.0 - 7,647,120.0

245504 | 5 | 5 |[lunnnwywpwpwih0 b wy; bpwbuwnpun 10,558,900.9 9,499,720.9 1,059,180.0
wyn pynLd’
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1. dbpGjwlyGph hhdGwlnpngnid 1,059,500.0 320.0 1,059,180.0
- Uwubwghunwywb swrwjnipjntbbtn 4241 320.0 320.0 -
- Wy dbpbawobp L uwppwynpniibtbp 5129 1,059,180.0 - 1,059,180.0
2. GpLlwlGh dawnpnwynipunbiGh wpfuunnwlplbnh 2,641,750.0 2,641,750.0 -
Yuwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 2,641,750.0 2,641,750.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. dGpqbunlyw FGhunpwwnpwluwnpuiny 628,000.0 628,000.0 -
nipbnpunhnfuwnpdwl éwewinipint
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 628,000.0 628,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. 6Yypnuwwluwib dhnipjuwl hwplbwbGnipjul 331,5618.9 331,5618.9 -
GGpnpnduyhl pwlyh wowlygn pjwdp
hnwlwiwgynn Eplwih dawnpnwnihunbih
Ybnwlwenigdwl Gpypnpn npwdwGnphughl
Snwghp /wunnd ppwilydwé (hugnpnipini G6GEp/
- Uj) Swiuubn 4861 331,518.9 331,518.9 -
5. GYypnwwiuwil Gapnpniduyhl pwlyh 1,018,752.0 1,018,752.0 -
wowlgni pjuid) wlwGwgynn Gpluwl
dawnpnwn punbah JEpwlwemgdwa pnypnpn
Snwghp /wunnd ppwilyywé (hugnpnipini GGEp/
- W Swfuubin 4861 1,018,752.0 1,018,752.0 -
6. GplwGh dGwnpnwnhunbGh 4,000,000.0 4,000,000.0 -
Glopwlwenigdwdpllinh ywemgnid
- Uj) Swiuubn 4861 4,000,000.0 4,000,000.0 -
7. GpliwGh dGwnpnwnipunbiGh 879,380.0 879,380.0 -
Glapwlwenigdwdpllinh Gnpngnid
(wuwwnyd hpuwiydwé (hugnpnipini GGbn)
- Uj) Swiuubn 4861 879,380.0 879,380.0 -

2470|104 | 7 | 0 | Uy powquywrlbn 246,500.0 103,500.0 143,000.0
nphg’

2473|104 | 7 | 3 |2pnuwynentpntl 246,500.0 103,500.0 143,000.0
wyn pynLd’
1. 2pnuuippgnipyul quipquigntd 246,500.0 103,500.0 143,000.0
- SEnGYwuinywywh swewjnipyntGbbn 4234 17,000.0 17,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 63,000.0 63,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 13,500.0 13,500.0 -
Juaquwybpwnipyntbtphl
- Uj) Swiuubn 4861 10,000.0 10,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 120,000.0 - 120,000.0
- Ng Gynipwywl hhoOGwywb shonglbp 5132 23,000.0 - 23,000.0
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2490|104 | 9 | 0 | SGwnbuwlwh hwpwpbpnipinGGEn (wy (4,874,690.4) 1,787,316.2 (6,662,006.6)
nwubphl swuwnluwbnn)
nphg’

249104 | 9 | 1 |SGnbGuwywb hwpwptpnintGbtn (wy nwubph (4,874,690.4) 1,787,316.2 (6,662,006.6)
swwuinywlnn)
wyn pynLd’
1. 2pnpG6ph wbnwnpnid 32,000.0 32,000.0 -
- CanhwGntp pGnyph wyp SwrwjnLpnLtbbEn 4239 32,000.0 32,000.0 -
2. Upwilygnipini O hwdwylipuyhla 223,332.8 223,332.8 -
Ywqdwlbpuwnipin GGERHG
hninwnpyuwynpnipini GGGpH hGwn uwwds
wiyswp dweuwyntpintGGbph dwwnnigdwl L
qliptquwlwwnbbph wwhwwidwa hwdwn
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 207,873.6 207,873.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4637 15,459.2 15,459.2 -
hwdwyGpltbph ng wrbnpwihG
Juaquwybpwnipyntbtphl
3. Ywrpwdwpdwl L wnGnEyuwnywlwla 387,953.4 387,953.4 -
wbfulnnghwlbph qupquignid
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 387,953.4 387,953.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. Upwiygnipini b hwduwylpuyhl L ng 240,000.0 240,000.0 -
hwiwyGpuyhl uqdwlbpwnipim Gabph
dpwanbnph
- Uy pbpwghy npwiw0Gnphbtn 4639 100,000.0 100,000.0 -
- W Ywwhunwi npwdwbnphltn 4657 40,000.0 40,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 100,000.0 100,000.0 -
Juaquwybpwnipyntbtnhl
5. N5 dhbwluwluwl whywnhydbbph ownnwpnidhg (6,662,006.6) - (6,662,006.6)
dnuunpbin
uucunNd ant3eh hPUsNtUhS UNtSLEN 8111 (1,460,000.0) - (1,460,000.0)
cunrgcuuuu ank3eh hPusNHUNS UNESLEN 8121 (2,000.0) - (2,000.0)
<N1h hPUSNHUNS UNESLEN 8411 (5,200,006.6) - (5,200,006.6)
6. SnGwlwl dbwynpmd 123,920.0 123,920.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 123,920.0 123,920.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
7. <wunwluwqdh wfuwwuwwnpwundwl b 34,510.0 34,510.0 -
Yuwquddwl upfuwnwlpllin
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 34,510.0 34,510.0 -

$hlwluwywb Yugtwytnpwnipntbbbph
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8. Ubpnpniduyhl épwagpbiph hppwlwlwgnid 224,600.0 224,600.0 -
- SbnGYwuinywywh swewjniyntGbbn 4234 6,000.0 6,000.0 -
- Ywrwywnswywb swewjnipntbGbbn 4235 8,000.0 8,000.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 5,000.0 5,000.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 205,600.0 205,600.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
9. <puwnwwy (nidnid wwhwlgnn pGpuwghly 521,000.0 521,000.0 -
upfuwnulplbinh Apwlubwgn: J
- Uj) Swiuubn 4861 521,000.0 521,000.0 -

25001050 | 0 cNRUYU Uhudu3Nh mucsmuuNnt@3Ntu 10,928,762.8 9,070,717 1 1,858,045.7
wyn pynLd’

251005 | 1 | 0 |UnpwhwlGmd 5,351,019.9 5,305,044.9 45,975.0
nphg’

2511/05| 1 | 1 |UnpwhwnLd 5,351,019.9 5,305,044.9 45,975.0
wyn pynLd’
1. Unpwhwlnipntb b uwGhunwpwlywl 104,645.6 64,645.6 40,000.0
duwpnnid
- UndntGwy SwrwynLpntbbEn 4213 7,000.0 7,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 50,000.0 50,000.0 -
wwhwwntd
- <wwnnty Gwwuinwywihb wyp neptn 4269 7,000.0 7,000.0 -
- W Gwwuinbbp pinuotihg 4729 645.6 645.6 -
- Wy dbpbawobp L uwppwynpniibbp 5129 40,000.0 - 40,000.0
2. Unpwininbiph uywuwnpldwl b 231,511.0 231,5611.0 -
2hGwpwpuwlywl wnph wnbnuhnfudwla
Swpuyntpnt GGG
- UndntGwy SwrwynipntblEn 4213 231,511.0 231,511.0 -
3. «Gplwlh wnpwhwbnipinib b 5,000,763.3 4,994,788.3 5,975.0
uwlhnwpwlul dwppnidy hwdwyGpuyhl
hhdGwnplyp wwhwwGdwo dwiuubin
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 3,084,820.0 3,084,820.0 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 97,636.3 97,636.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGep 4212 13,104.0 13,104.0 -
- UndntGwy SwrwynipntbbBn 4213 5,000.0 5,000.0 -
- Ywuwh SwrwjnipnLtGbn 4214 1,608.0 1,608.0 -
- Uywhnjwgnwywb dwfuubin 4215 15,006.0 15,006.0 -
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 1,000.0 1,000.0 -
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- {wiwywngswihb dwrewjnipynLalbn 4232 258.0 258.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 7,000.0 7,000.0 -
- UbpbOwObph L uwppwydnpnidbbph pbpwghy 4252 223,350.1 223,350.1 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 4,750.0 4,750.0 -
- Spwluwnpuwihb Gnipkn 4264 1,187,805.9 1,187,805.9 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 500.0 500.0 -
- <wwnnty Gwwuinwywihb wyp ineptn 4269 350,000.0 350,000.0 -
- Mwpunwnhp y&wnobn 4823 2,950.0 2,950.0 -
- Jwpswywb uwppwynpniibbn 5122 500.0 - 500.0
- Wy dbpbawobp L uwppwynpniibbp 5129 5,475.0 - 5,475.0
4. «Gplwlh Ynywn punhnllGbnh Ywrwywndwl 14,100.0 14,100.0 -
dnwaqhn» dpwgph ppwlwlylGlpnd
UwuhwlnidGbph qény dwpnidGbph
wnpwdwnnpnid
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 14,100.0 14,100.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2520|105 | 2 | 0 | Yanuwgntph hGrwgntd 1,823,070.7 11,000.0 1,812,070.7
nphg’

2521(05| 2 | 1 |Ubnuwenptiph htrwgntd 1,823,070.7 11,000.0 1,812,070.7
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhywghnl guiligbph 1,823,070.7 11,000.0 1,812,070.7
Yupnignid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 11,000.0 11,000.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 1,812,070.7 - 1,812,070.7

2530|105 | 3 | 0 | Cpowlw showduyph wnunnundwl nbo wwypwn 52,983.0 52,983.0 -
nphg’

2531(05| 3 | 1 |Onh wnunundw nbd wwjpwn 52,983.0 52,983.0 -
wyn pynLd’
1. QGwnbiph hniGGph dwppmd 38,683.0 38,683.0 -
- UndntGwy SwrwynLpntbbEn 4213 38,683.0 38,683.0 -
2. Cpowlyw dhowduyph b1 onh wnuinundwl 14,300.0 14,300.0 -
nbd dhongwenidGbph hpwlwlwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 14,300.0 14,300.0 -

2560|105 | 6 | 0 |Cpowlw vhowduwyph wwpwnwwGnipintl (wyy 3,701,689.2 3,701,689.2 -
nwubphl swuwnluwbnn)
nphg’
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2561 | 05 1 |Cpowyw thowdwnh wwunwwbnipintb (wy nwubph 3,701,689.2 3,701,689.2 -
swwinywlnn)
wyn pynLd’
1. Ywlws wnwpwdplbph hhoGnid L 3,300,000.0 3,300,000.0 -
wwhuwwbnig
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 3,300,000.0 3,300,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. Ufunnwhwldwl L dhpwwnwqbpddwl 26,932.0 26,932.0 -
Swipuynipyni 6G6Gp /nbrunnhquighw
- UndntGwy SwrwynipntbbBn 4213 26,932.0 26,932.0 -
3. <wuwnwuwlwl gniquinwbGbph 16,820.0 16,820.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntblGn 4213 16,820.0 16,820.0 -
4. Bunhwenn Y&aGnwahGbph Jowuwqbndnid 275,937.2 275,937.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 275,937.2 275,937.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
5. Gplwlyw 1Ah b1 <pwgnwlb gbinnh 82,000.0 82,000.0 -
plwwywhwwliwlwl wwpwnwwbntd &1 duwppnitd
- UndntGwy SwrwynLpntbbEn 4213 82,000.0 82,000.0 -

2600106 0 | O pLULUNULUSHL ChuururnHe3NFL G4 8,845,644.0 3,756,245.8 5,089,398.2

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynLd’

2610|106 | 1 | 0 | PGwlwpwluyhl ;pGwpwpnipinia 942,665.8 442,665.8 500,000.0
nphg’

261106 | 1 | 1 |ROwywpwlwihb 2hGwpwnnipntl 942,665.8 442,665.8 500,000.0
wyn pynLd’
1. hapGwlwd Yuernyglabph pwannid 65,000.0 65,000.0 -
- Uj) Swiuubn 4861 65,000.0 65,000.0 -
2. 2nppnpn wuwnhAwlh Jpwpuyhb 26Gpbph 7,920.0 7,920.0 -
pwlindwl hGwnlwlpny
plhwlwnwipnuwiénipim GGGphg gplyuws
plwlhsGbph Ynnuhg Jupdwluwyws
plwlwnwlGEph thnfuhwwnnigni d
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 7,920.0 7,920.0 -
3. 2nppnpn wuwnhAwlh Jpwpuiht 26Gpbph 500,000.0 - 500,000.0
pwlindwl hGwnlwlpny
plhwlwnwipnuwiénipim GGGphg gplyuws
plwlhsaGph thnfuhwwnnigdwl hwowpn
plwlupwlGbnph dGrppbpnid
- Gtlpbnh L 2hbnpyniGbbnh dGrppEnpnLd 5111 500,000.0 - 500,000.0
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4. dpwpuyhl 6Gpbph Jpwplwybgdwl
dpwanh hpwgdwl shongueni vGEn

369,745.8

369,745.8

- W Gwwuinbbp pinuotihg

4729

369,745.8

369,745.8

2640

06

®nnnglbtph (ntuwynpnid

2,136,695.1

2,124,383.1

12,312.0

nphg’

2641

06

®nnnglbph |ntuwynnpnid

2,136,695.1

2,124,383.1

12,312.0

wyn pynLd’

1. CGaptiph qinwpdGuunwlwl jntuwynpnid

15,712.0

3,400.0

12,312.0

- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b
wwhwwntd

4251

3,400.0

3,400.0

- GLlpbnh L 2hOneyntGbEnph Yurenigned

5112

12,312.0

12,312.0

2. Unwnwphl ntuwdnpnipiwl gulgh
2whwaqnpodwl L wwhwwGdwl

wpfuunnuwliplbin

2,080,804.8

2,080,804.8

- Untpuhnhwtp ng $hOwbuwywl wtnwywb
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

2,080,804.8

2,080,804.8

3. Ybpwlwenigdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nLuwynpnipjwly npwdwGnphughl Spwghn
(wuwinyhpwdwd jhwgnpnipin GGEn)

1,018.7

1,018.7

- W Swfuubin

4861

1,018.7

1,018.7

4. dGpwlwengdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nLuwynpnipjuly dpwghp (wuwwndhpwlydwd

[hwqnpnipni GGER)

28,972.1

28,972.1

- W Swfuubin

4861

28,9721

28,9721

5. UnbLGywl G4pnwuyh Labpquifubuynnni pjuil
L plwwywhwwlGwlwl gnpéplybpni ppulb
Dbnlnh wowlygni ppudp hpwlwawgynn
«Gplwlh punwpuyhl (niuwynpnipiuily
gpwdwGnphuyhl spwghp (wwandhpwlydwés
[hwqnpnipni GGER)

10,187.5

10,187.5

- W Swfuubin

4861

10,187.5

10,187.5

2650

06

Phwhwnwluyhl ;hbwpwpmipjwa b YndniGuy
SwreuynLpyntGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn

20,000.0

20,000.0

nphg’

2651

06

POwywpwlwihb 2hGwpwnnipjwb L YyndntGuwy
SwrwjnLpntbbEph gény hunwgnunwyw L
Owfuwgbwihb wpfuwunwbpltbn

20,000.0

20,000.0

wyn pynLd’
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1. CGhaptiph b 2hGnipintGGaph hburnwgnundwl 20,000.0 - 20,000.0
wpfuunnuwliplbin
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 20,000.0 - 20,000.0

2660|06 | 6 | 0 | PGwlhwnwluyhl ;hGwpwpnipjwl L YndniGuy 5,746,283.1 1,189,196.9 4,557,086.2
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

266106 | 6 | 1 |ROwywpwlwih( 2hGwpwnnipjwb L YyndntGuwy 5,746,283.1 1,189,196.9 4,557,086.2
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26GpLph hwpp 290,600.0 290,600.0 -
wnwbhplbph Ybpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 275,600.0 275,600.0 -
wwhwwntd
- <wwnnty Gwwuinwywihb wyp ineptn 4269 15,000.0 15,000.0 -
2. Pwquiuwpbwluwpwl 26Gpbph pbip 533,557.9 126,500.0 407,057.9
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 126,500.0 126,500.0 -
- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned 5113 407,057.9 - 407,057.9
3. Pwluyhl tnwpwdpllinh L 4,279,248.5 219,746.7 4,059,501.8
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 184,746.7 184,746.7 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 35,000.0 35,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 250,634.8 - 250,634.8
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 3,570,242.0 - 3,570,242.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 238,625.0 - 238,625.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 536,900.0 536,900.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 489,900.0 489,900.0 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 47,000.0 47,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
5. Ypwpuyhl wuwinyquidplbph Gnpngnid 90,526.5 - 90,526.5
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 90,526.5 - 90,526.5
6. Ywpuuyunnlbbph L qgnipk, whwwantd 15,450.2 15,450.2 -
- LOpwghy npwdwbnphbbp wewnwywb L 4638 15,450.2 15,450.2 -
hwiwjopwht wrluinpwiht YuwqdwytpwneentGbsph

270010710 | O unnaaunu<nt@3Ntu 343,688.0 99,340.0 244,348.0

wyn pynLd’
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2710|107 | 1 | 0 | AHrhqwluwl wuypwlplbn, uwppbn L 204,180.0 - 204,180.0
vwppwynpnidabp
nphg’

271107 | 1 | 1 |Ynwgnpéwywl wwnwbplbn 204,180.0 - 204,180.0
wyn pynLd’
1. Upnnowwwhwlwl JuqdwlybpwnipiniGGbph 204,180.0 - 204,180.0
hwdiwn pdryuwlul uwppwynpmdbbph b
gniph dGpppbpnid
- Wy dbpbawobp L uwppwynpniibbp 5129 204,180.0 - 204,180.0

2760|107 | 6 | 0 | UrnnowwwhnipintG (wy nuubphG 139,508.0 99,340.0 40,168.0
swunljwilinig)
nphg’

276107 | 6 | 1 |Urnnowwwhwywl hwpwyhg dwrwnipntbbbp L 139,508.0 99,340.0 40,168.0
Spwgntip
wyn pynLd’
1. Upnnowwwhwlwl opllunGlph 40,168.0 - 40,168.0
hhdGwGnpnqnid
- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned 5113 40,168.0 - 40,168.0
2. MdYwnwidunsbrh hburnwgnunnipiniGG6ph 99,340.0 99,340.0 -
hpwlwlbwgnid
- Uwulwghunwywb swrwjnipjntbbbn 4241 99,340.0 99,340.0 -

2800080 | 0 <Uuahus, ucuuntse b4 urnu 9,269,390.8 7,667,565.8 1,601,825.0
wyn pynLd’

2810|108 | 1 | 0 |<wlquinh L uwynpunp GwrwynipintGGEN 3,895,520.2 2,633,695.2 1,261,825.0
nphg’

281108 | 1 | 1 |<wlOguwnh L uwynpunh SwrwjntnLbGEn 3,895,520.2 2,633,695.2 1,261,825.0
wyn pynLd’
1. UynpunuyhG dhonguenidGbph 326,803.2 326,803.2 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 255,303.2 255,303.2 -
- Uy pbpwghy npwiw0Gnphbtn 4639 15,500.0 15,500.0 -
- Unppwlw(, dowyntpwihb L uynpunwihb GwywuwnGbp 4727 40,000.0 40,000.0 -
pintetihg
- LuhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 16,000.0 16,000.0 -
Juaquwybpwnipyntbtphl
2. <wlquinh gninhlGbph L gpnuuyghlGbph 1,368,717.0 106,892.0 1,261,825.0
Ywenignid n wwhwwlnid
- EGGpgbuinhy swrwynipnLGGep 4212 39,000.0 39,000.0 -
- UndntGwy SwrwynipntbbBn 4213 8,000.0 8,000.0 -
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1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 34,050.0 34,050.0 -
wwhwwntd
- Uy pbpwghy npwiw0Gnphbtn 4639 25,842.0 25,842.0 -
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 207,909.6 - 207,909.6
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 1,043,815.4 - 1,043,815.4
- Wy dbpbawobp L uwppwynpniibbp 5129 10,100.0 - 10,100.0
3. Gpluwlh priuwpwlwluwl uygnt 2,200,000.0 2,200,000.0 -
wnwpwdpm d whwnwewwni pwlh
Ywpn guwuiiniwl wpfuwunwaplbn
- Uj) Swiuubn 4861 2,200,000.0 2,200,000.0 -

2820|108 | 2 | 0 |Upwlynipuyhl swrewynipiniGGEn 5,353,281.6 5,013,281.6 340,000.0
nphg’

2821/08| 2 | 1 |Qpwnwnwlbn 706,063.3 666,063.3 40,000.0
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 666,063.3 666,063.3 -
- UntpupnhwGtp ng $howbuwyub weEwnwywh 4511 666,063.3 666,063.3 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. QnuinuwpwbGbph hwdwp wohpwdbun 40,000.0 - 40,000.0
qniph dbep papnid
- Ng Gynipwywl hhoOGwywb shonglbp 5132 40,000.0 - 40,000.0

282208 | 2 | 2 |Bwlqwnwlbbp L gnigwunwhGbp 360,301.0 360,301.0 -
wyn pynLd’
1. Pwlqupwluyhl Swewyntpim GGEn L 360,301.0 360,301.0 -
gnigwhwinbulbp
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 360,301.0 360,301.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|08 | 2 | 3 |Uwynyph wnlbp, wyniipbtp, Ysaunpnbbsn 535,801.6 535,801.6 -
wyn pynLd’
1. <wduylGpuyhl dpwlynyph L wquin dwdwlgh 535,801.6 535,801.6 -
Yuqdwlbpwni d
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 535,801.6 535,801.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

282408 | 2 | 4 |Ujy Gywynipwihlt ywgqiwybnwnipntbGbp 2,816,620.1 2,816,620.1 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidalbph 2,386,715.3 2,386,715.3 -
hpwlwlbwgnid
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 3,000.0 3,000.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,962,245.8 1,962,245.8 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 55,469.5 55,469.5 -
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- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 365,000.0 365,000.0 -
Juaquwybpwnipyntbtphl
2. YGhnwlwpwlwlwl wigm 429,904.8 429,904.8 -
gnigwnpnipnLGGGn
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 429,904.8 429,904.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2825/08 | 2 | 5 |Upybuwn 914,495.6 614,495.6 300,000.0
wyn pynLd’
1. Gpuwdrwnwnybuwnp L wwpwpdbuwnh 153,234.6 153,234.6 -
hwdbnqlbp
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 153,234.6 153,234.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Puwnbpwlwl Gapyuywgnidabn 461,261.0 461,261.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 461,261.0 461,261.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. BwnpnlGlGph hhdGwGnpngnid 300,000.0 - 300,000.0
- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned 5113 300,000.0 - 300,000.0

282708 | 2 | 7 |<niwndwlbbnh L Gowynipwiht wpdbpbbph 20,000.0 20,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Jpwlnpngnid L 20,000.0 20,000.0 -
wwhuwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwlntd

2840|08 | 4 | 0 | Ypnbwluwl L hwuwpwlwlwl wy 20,589.0 20,589.0 -
SwewyntpynLGGEN
nphg’

2841|08 | 4 | 1 |Gphunwuwnnwlwb Spwanptp 3,000.0 3,000.0 -
wyn pynLd’
1. Eppurnwuwnnulwl shonguwenidGbnh 3,000.0 3,000.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
- Uwulwghunwywb swrwjnipjntbbbn 4241 1,000.0 1,000.0 -

284308 | 4 | 3 |UpnGwywl L hwuwpwywywb wy SwrwjnipntbbGn 17,589.0 17,589.0 -
wyn pynLd’
1. UGnwdwlygntpjul JAwnpbbn 17,689.0 17,689.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 17,589.0 17,589.0 -
Juaquwybpwnipyntbtnhl
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Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

9

2900

09

o

urENH33NEL

42,205,960.5

41,812,105.2

393,855.3

wyn pynLd’

2910

09

ULwfuwnuypngwlw L cnwppwlwl pGnhwGnin
Uppenipyntl

26,064,395.3

25,914,395.3

150,000.0

nphg’

2911

09

Lwfuwnwnngwywb Yppnipntl

18,301,923.3

18,151,923.3

150,000.0

wyn pynLd’

1. Vwfuw ngwlwl nunignid

13,224,418.7

13,224,418.7

- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn

4239

2,200.0

2,200.0

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

13,222,218.7

13,222,218.7

2. Lwfuw nguwljwl ntuntgdwl
Lwqiwlbnwiwl hwdwn wGhpwdbw gniph

dbrp pbpnid

680,000.0

530,000.0

150,000.0

- <wwnnty Gwwuinwywihb wyp neptn

4269

30,000.0

30,000.0

- W Ywwhuwnwi npwdwbnphltn

4657

500,000.0

500,000.0

- Wy dbpbawobp L uwppwynpniibbp

5129

150,000.0

150,000.0

3. Lwfuwi ngwlwi nLpjwl
hwuwGbhmppwl b npwyh wwwhnydnid
(wuwinyhpwdwd jhwgnpnipini GG6n)

22,719.2

22,719.2

- Untpuhnhwlbp ng $hOwbuwywl wtnwywl
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

22,719.2

22,719.2

4. Unghuwywyw npn) fjudpbph 1.5-5
wnwpblwl Gpbluwlbph Gwiuwnuwpnguwlwl
Yppnipiwl wwwhnynid /wyuwwndhpwlyduws
[hwqnpnipini GGG/

668,844.2

668,844.2

- W Gwwuinbbp pinuotihg

4729

668,844.2

668,844.2

5. Nwnwluwl wowlgni pjuwdp hpwlwlwgynn
Guwfuw ngwlwl ntunt0GuijulG
hwuwnuinnipint GaGph Yuenignid i

hhdGwGnpnqnid

3,691,770.4

3,691,770.4

- W Swfuubin

4861

3,691,770.4

3,691,770.4

6. Vwulwahunwlwl qupquigiwl b
Ywnduwinpni puil thnfujuwwwlygywd
hwdwlwpgh GEpnpnd Gwiuwnupnguluwl
hwuwnuinnipint GGGph dwlyuwduwnpdGbphl
wnwnwlwnpgh 2Gnphdwl gnpdplpuwgh
Uhgngny/wunyppwlyywd jhwgnpnipini GaGn/

8,280.0

8,280.0

- W Gwwuwnbbp pinuobihg

4729

8,280.0

8,280.0

7. Lwfuwnuwnpnguwlwl dpwapbn

hpnwlwGwglnn nium dGwluwl
hwuwnuinnipint GaGph dwbluwywndabnh
YEpwwuwwnpwuwnnid (wuwandppwlyduwéd

[hwqnpnipni GGER)

5,890.8

5,890.8

- W Gwwuinbbp pinuotihg

4729

5,890.8

5,890.8
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1 2 |3 |4 5 6 7 8

291209 | 1 | 2 |Swppwywb plnhwnip Ynpnepinta 7,762,472.0 7,762,472.0 -
wyn pynLd’
1. <wlpwyppwlywl niunigntd 7,762,472.0 7,762,472.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 7,762,472.0 7,762,472.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2920|109 | 2 | 0 |UhoGwlwng panhwGnip Yppnipinta 10,226,675.2 10,226,675.2 -
nphg’

292109 | 2 | 1 |<pibwywhb pGnhwbnip Ypenipntd 9,927,183.0 9,927,183.0 -
wyn pynLd’
1. <wlpwyppwlywl niunignid 9,5627,499.4 9,527,499.4 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 9,527,499.4 9,527,499.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. Phwqghunwlwl ninpunh wewpluwlbn 399,683.6 399,683.6 -
nuuwywannn niuntghsphG hwybwyswnph
wpwdwnan 0 (wuwndppwldwo
[hwqnpnipni GGER)
- W Gwwunbbp pinuobihg 4729 399,683.6 399,683.6 -

292209 | 2 | 2 |\UhoGwlywng (1nhd) pGnhwbnip Ypenipntd 299,492.2 299,492.2 -
wyn pynLd’
1. <wlpwyppwlywl niunignid 299,492.2 299,492.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 299,492.2 299,492.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnwlGbph snwuwluwpgdnn 5,054,272.6 4,956,403.6 97,869.0
Uppenipyntl
nphg’

295109 | 5 | 1 |Upunwnuwnngwlwl nwuwmhwpwyntpjntb 5,054,272.6 4,956,403.6 97,869.0
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipini 4,880,008.6 4,880,008.6 -
- EGGpgbuinhy swrwynipnLGGen 4212 7,929.2 7,929.2 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 4,872,079.4 4,872,079.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. Unwnuw nquiywl Juqdwlbpwnipini GGG, 97,869.0 - 97,869.0
hwdwn wahpwdbiu gniph dbep pbpnid
- Wy dbpbawobn L uwppwynpniibtbp 5129 97,869.0 - 97,869.0
3. «<wiynp Ynomywily Yppwhwdughn MNUY- 6,793.0 6,793.0 -
nLd wpunuw nquiluwl nuwuwnhwpwlyni pjuwlb
Yuwqiwlybpynid (wundhpwldwé
[hwqnpnipni GGER)
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 6,793.0 6,793.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

4. Gpwdrwnwywl L wpdbuwnh nupnglbbpnid
wqquyhl jwpuyhl L thnnuyhl Gdwquinwbbabnh
qény ntunignid

60,353.9

60,353.9

- Untpuhnhwltp ng $hOwbuwywl wtnwyw
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

60,353.9

60,353.9

5. Ywdwynp wnbuwnwynpdwl Gnp
hwdwlwpgh Gepnpnid” ninnywé
wnunwnupnguwywl nium dawluwl
hwuwnuinnipynt GGGph dwlyuwdwpdwlwl
wpfuwnnnlbiph npwlyh pwpdpwgdwln
(wuwinyhpwydwd jhwgnpnipin GG6n)

9,248.1

9,248.1

- W Gwwuinbbp pinuobihg

4729

9,248.1

9,248.1

2960

09

Unppnipywlp wpwdwnpynn odwlnwly
SwewyntpynLGGEN

860,617.4

714,631.1

145,986.3

nphg’

2961

09

Unpntpjwlp unnpwdwnnynn odwlnwy dwrwnipntblbn

860,617.4

714,631.1

145,986.3

wyn pynLd’

1. Vwfuw ngwlwl hwuwnwwnnipnt GGk,

Yupnignid L JGpuwlnpngnid

11,986.3

11,986.3

- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned

5113

11,986.3

11,986.3

2. ypnguywlbGbph ojhdwhwnwbbph b wy
Uhgngwpem dG&ph uquiwlbpwni d

74,000.0

74,000.0

- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn

4239

74,000.0

74,000.0

3. Uwnbuwnwynpdwl dhongny npwlwynpnid
uthwgwé niunighsabphl hwybwyswnpbbph
wpwdwnpmd (wwndhpuwldws

[hwqnpnipni GGER)

37,662.2

37,662.2

- W Gwwunbbp pinuobihg

4729

37,662.2

37,662.2

4. <wlpwppwywl hhdowlwb spwgpbn
hpwlwbwglnn niunt dGwlwb
hwuwnuinnpint GaGph hbppwlwa
wwnbunwynpiwl GGpwlw ntunighsGph
Yepwwuwwnpwuwnn d (wundhpwldwé

[hwqnpnipni GGER)

14,104.7

14,104.7

- W Gwwuinbbp pinuotihg

4729

14,104.7

14,104.7

5. Ywdwynp wnbuwnwynpdwl hwdwluwpgh
G6pnpnid” nennywid niunighsGeph npwiyh

pwndnwagdwln

588,864.2

588,864.2

- W Gwwuwnbbp pinuobihg

4729

588,864.2

588,864.2

6. <wipwyppwlwl hwuwnwwnnipinGGGph
hhdGwGnpngnid L JGpwlnpngnid

134,000.0

134,000.0

- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid

5113

134,000.0

134,000.0

3000

unshuLuvyuuL MuUcSMULNHBE3NFL

2,211,240.6

2,117,490.6

93,750.0

wyn pynLd’
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303010 0 | <wpwqunhl Ynpgnpwé wGdhGp 156,769.0 15,769.0 -
nphg’

303110 | 3 | 1 |<wpwquwuwnhb Ynpgnwé wbdhlbp 15,769.0 15,769.0 -
wyn pynLd’
1. <wpwqun snLGkgnn wGdwag 16,769.0 15,769.0 -
hninwplyuwynpnpywl yuqdwlybpunid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 15,769.0 15,769.0 -

304010 | 4 | 0 | Lauwbhph wonwdGbn L qudwlabn 50,209.6 45,899.6 4,310.0
nphg’

304110 | 4 | 1 |COnwOhph wonwdbkn L quywyatp 50,209.6 45,899.6 4,310.0
wyn pynLd’
1. GptGfuuyh ppwidniGpllinh L pwhbph 40,609.6 40,299.6 310.0
wupwnuwGnipint G
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 1,200.0 1,200.0 -
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 2,617.5 2,617.5 -
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 13,449.9 13,449.9 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,000.0 2,000.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 21,032.2 21,032.2 -
- Wy dbpbawobp L uwppwynpniibbp 5129 310.0 - 310.0
2. Vpwlhynipuypl L Yppwlwl dhonguentdbabn 3,300.0 3,300.0 -
Yuwlph nddwphl hpwypswlynid huyunGywds
GpGfuwbtiph hwdwn
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,300.0 3,300.0 -
3. Gptifuwlbphl wowlygdwl Gwwwnwlyny 5,800.0 1,800.0 4,000.0
huwnntly ublywlGbph unbinémd Gplwl
pwnuwph Jupswluwl ppowlbbpnd
- Ywrwywnswlwb swewjnipntbbbn 4235 1,800.0 1,800.0 -
- Jwpswywb uwppwynpniibbn 5122 4,000.0 - 4,000.0
4. <wlpwyppuwlywl nupnglbbnn J Gpbluwlbbph 500.0 500.0 -
hnwyniGpl&ph Yapuwpbnyuy
hnwqbyduwiéni pyul pupdpwgnd
- Ywrwwnswywb swewjnipntbbbn 4235 200.0 200.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 300.0 300.0 -

307010 | 7 | O | Unghuywluwl hwwnnty wpainlGnupint GGG (wyy 382,750.0 293,310.0 89,440.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwjwywb hwuwnnty wpunnOnipintGbbn (wy 382,750.0 293,310.0 89,440.0

nuwubphb swywunywbnn)

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. Gplwl pwnwpnd Gpbluwbbph L 5,000.0 5,000.0 -
unghwywluwl wwwnwwlbnipjuwl npnpuintd
G6pnpywo Gnp hwdwlwpgh wpni Guwluwljwa
qupquignid " wpynt Guydbun yupwdwnpowl
Owuwinwyny
- Uluwwnwywgih dwubwghunwywb qupgwgiwl 4233 5,000.0 5,000.0 -
SwrwjnLpnLbbGn
2. Gpluwl hwduylph pGwlhsGbph 126,624.5 126,624.5 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 38,164.5 38,164.5 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 56,320.0 56,320.0 -
wwhwwntd
- Qpwubtwyuwhb Gniebp LW hwgniuwn 4261 1,500.0 1,500.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 19,420.0 19,420.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 11,220.0 11,220.0 -
3. <wuwnpwluwlwl uqdwlybpuwnipini GGGphG 42,480.0 42,480.0 -
wowlgnipint G
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 42,480.0 42,480.0 -
Juaquwybpwnipyntbtphl
4. Swppbp unghwywlw fudpbph hwdwp 29,224.0 29,224.0 -
Gplwl hwduylpntd npwlyw; unghwywlwl
Swipuynipyni 6GGph Guquwlbpund
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 20,224.0 20,224.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 9,000.0 9,000.0 -
wwhwwntd
5. Pwquwquiyuwy, Gphunnwuwnn b wyy fjudpbphl 114,548.5 30,608.5 83,940.0
wuwinluwlnn plunwGhplbphl wowlygnipint G
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 690.0 690.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 23,968.5 23,968.5 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 3,950.0 3,950.0 -
- Wy ubpbawobp L uwppwynpniibtbp 5129 83,940.0 - 83,940.0
6. Gpluwl pwnwpnd hwdwylGpuyhl 7,000.0 7,000.0 -
unghuywlwl dwpwynipini G6Gph GEpnGnid L
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 7,000.0 7,000.0 -
7. Upunwluwipg hpwyhAwlGbpnd b 20,000.0 20,000.0 -
Ldwlwwnpy wy nGwpbpnid wiph ndduwphla
hpwyhswyEpnid huyunGywd wadwlg b
plawnwlhphlbphG wowlgnipint G
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 20,000.0 20,000.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

8. Gpluwl punuph unghwywlwlb 19,000.0 13,500.0 5,500.0
wowlgnipywl Yapwpbnyuw; ywdwynp
fulinhplbpp (n16dwll nunnywé
UhongwenidGbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwlntd
- Ushgwnuwihb L hwbpwihG ubbnh OjnueGn 4267 1,500.0 1,500.0 -
- W Gwwuinbbp pinuobihg 4729 8,000.0 8,000.0 -
- Wy dbpbawobp L uwppwynpniibtbp 5129 5,500.0 - 5,500.0
9. Unghwywlwl wowlygnipjwl Yuphp 11,000.0 11,000.0 -
nLGbgnn plunwGhplbphl Yuynt b Ghwdniwn
wwwhnybynt Guunwny qpunywénipjwl
Snwgnpbipnp yuqdwlybpwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 11,000.0 11,000.0 -
10. Unghuwywiywl wowlygnipwl Yuphp 7,873.0 7.873.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpywynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 7,873.0 7,873.0 -

309010 | 9 | 0 | Unghuwywluwl wwpwnwuwlnipintG (wy 1,762,512.0 1,762,512.0 -
nwubphl swuwnluwbnn)
nphg’

309210 | 9 | 2 |Unghwjwywl wwpunwwbntpjubp tnpwdwnnynn 1,762,512.0 1,762,512.0 -
odwlnwy dwrwnipintbbtn (wy nwuknhl
swwinywlnn)
wyn pynLd’
1. MGwnwlwl hhdGwplGlph L 666,792.0 666,792.0 -
Ywquiwlbpuwnipint 6G6pH wfuwnnnlbnh
unghwywywl thuwpbpny wwwhnynid
(wuwwnyd hpuwiydwé (hugnpnipini GGbn)
- W Gwwuinbbp pinuotihg 4729 666,792.0 666,792.0 -
2. Uennonipjwl wwwhndwapnipintG 1,095,720.0 1,095,720.0 -
- Uywhnjwgnwywb dwfuubin 4215 1,095,720.0 1,095,720.0 -

310011110 | O <hULuUyUL PUGhLLENPL 2UUYNN 8,548,455.9 24,384,627.7 1,100,000.0

nuU{NFUSU3hL dNuIGN

wyn pynLd’

311011 | 1 | 0 | << ywrewywpnipjuwl b hwiwyGpGbph 8,548,455.9 24,384,627.7 1,100,000.0
wwhniuwnuyhl pnhn
nphg’

311211 | 1 | 2 | << hwdwyGpbbph wwhniuwinwihb $nln 8,548,455.9 24,384,627.7 1,100,000.0
wyn pynLd’
- MwhntuwnwihG dhengGbn 4891 8,548,455.9 7,448,455.9 1,100,000.0
-{wunyuwgntd wwhrunwhb $nlnhg $nlnuwhb pjniok X - 16,936,171.8 -
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